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Notes 1.4

Warmup — Use the product or quotient rule to simplify. Leave answers in exponential form

with positive exponents.
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Investigation
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With a given function and input determine the inverse function and then explain what it does in

words.
a.
Input The math... Output
x=7 7+8=15 sy 7
Original Function Inverse Function
fx)=x+8 )= X =%
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Input The math... Output
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Input The math... Output
x =17 —> 72 =49 — 4
Original Function Inverse Function
&) = i = \x
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Input The math... Output
x =17 - 2" =128 S 4 7
Original Function Inverse Function
fa) =27 @ = 109, X
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Input The math Output
x =7 e 207—-5= i 7
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f.
Input The math... Output
#isa 7 —> 7%5 B 7
Original Function g = X¥5 Inverse Function
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Input The math... Output
x =17 4 (7-3)2=16 —_— 7
Original Function !J = (-3 Inverse Function
fO) = (x - 3)? {g=x-3 |f)= {x +5
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Input The math... Output
x =7 —> 4—47 —> 7
Original Function (ﬁ: L*”r Inverse Function
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Input The math... Output
=7 —> | 27-10=118 | —> 7
Original Function LJ = WX=10 Inverse Function

fGx) =25 - 10 Yed = 2% |fre= \o( (¥ +10)

Explain:
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i What is the difference between the x used in f(x) and the x used in f~(x)?
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k. Describe the relationship between a function and it’s inverse. /" fun
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